ﬁcﬁes{@/ Solution Agigrenf. | 7
e s 27= ol ond 17= 000l

NOW llol/z
@1000/2

1019,
Thes 271 ®17= 9% =1[°
(b) Tt follws fram 5 G133 = 25 Yot

$=% V35433
2t (H3%
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53
() 1 %0y §2=0 then
sy =80 P2OL=0P-2
Ths A=3@f§Yf= 2&4= 1 BZ
., 207 Jojwo and 1521}

-
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=
-
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2. (o) Sinee 29= (][0

Now  |1]0]2

Jo 97,

@ R
A

[ 10x

Thus 9@0@Is-= 0 = 4

th) We hove 29 g0 (1t = [[[of, & [ol0% @Il = (5 =4
le W/(z‘nﬂ ot ffe [ef{mm‘ prn, Yo m‘ft'n'/_lf mwe 1s
o weaoh [fol)s fom )]0l 0 [@lo, from ol 2 (90,

.
‘fr:: all m‘m‘ry moves ore (27,29,15),(20,1915) and (29,27, 9)
3 ) 4ince 2= [0y 19= [o0ll> and71* [0l
we hove b @19@27 =7 @ (ol @ [0l = 1% = ¢
The mly W mive Ts b fake 4 f/mt 12 siwe TE15 He
gnly number | of fhe lef{m‘zf fumn .
This, the winmef mwve 15 (4, 19,27 )



) e 13= |k, [ 1908)s, 19= [ wl ond 237 [oll]e
we hve 15 @11@18 B25 = [k @ [ @ [wlfy @0ll], = 17 =24
By lokird ot Yo Jeftmst olumn, the pin{ moes 6ve

(13,9,19,23), (13,17,11,23/ ond (13,17,19,15).
40 p={ ge W %= 0.2 (mif P} 15 the sef F p-psitis of fhe gome

(b) () The oly fermirol pvﬂ“ﬁ"” 150 wd ep
) Toke ony }’vﬁ‘ﬁm 06, Thee pre fwo guses® (1) when b= o (mal%),
1t @ be med v ¢ peifim g where § = 3,4, 5,7 (meA 8/, wh'ah
shows et 4475 ) when p= 2(mad §), 7t on be mad/ 9 &
ym‘ﬁ'm 9 where § = 1,5, 6 7(mwfg), whh z'rn/'/f%ov&v thef /.14

Tn Jhese fwo (uses, ony mive fﬂ”" onyf /vsiﬁ'm pep Koches o //mé'm
1ar
i) Supise tere are g, chifs v fhe pile whee Q&P For 9= 39 Lt 47
(el 9).. the nest pbjer vy pomove 1,3 4.5 ¢, ¢ s such Yot pho
Ve”‘m"”l'j Clliﬁ are Wﬂ’”e"l[ i’” 0,9,0,0 2,2 myhls § y@g/kzﬂ(/f
,m/ e })m‘ﬁim; mp. T}Wﬁﬁ’ ﬁ’”’"f /"”’ﬁ"” 167, Hoe esists &
mwe fon g yeac/u)rf o //.;iﬁim pep
Thes . p= {$em: ’5;0,2(mv/5’)] 75 Hhe sef ‘7(’ p- psshions.

So g(4)=2, g(18)=0, g(29)=3
500 5= {126}, we [t He walues of 909 pefmo
“4012343’;737/,7//,2.”
905/01201230/20/2\\.
In oot | 1 on be shown Yot
ﬁk , z0,3mid7)

, 1w A= 4 (mid7)
Xz 2% (me/7)

’, Tf %= 5(/77”/7}
Since 4z4mf1), fz4(mid7) (w=2z(med])

We hove 9=, 9(b)=3 ond ()= 2.

§(8) = (f

v
/
2
3



() By e hypollesis, e psible tows fom [ for the fost plofer ore
g9, 43 oV 94
swe 992 | Umd7), 992 0(nlT), Y= 3(mad 7)
Fon W), we e §(39)=1, 9097)= 0 o Jig4)=v
thus, 99 ond 94 we [-psiti?s, j.e. ol wintirf maes we 97 ondl 94

() P= {ﬁe//v: A= 0,;(ma/7zj 75 te sel F f—/mﬁ% o the gome
. (i) The oy Jepmirol. i s g gad ve f
() Toke onf Vasz‘ﬁ'm pep. Thee ox fwo s = (1) when P=0(m/7),
it on be o o 6 psitin g where 4= 1,2, 4 (mof 7), which shows
ot 967 @) when p=3(mol7), 7t o be v [ o st
q/w}re/e@ 11 A/—,S,z(mac/w, which lso z‘m/’/z‘ef ﬂvf @é‘?
In fhese fwo wsts, oy me fromany pisition pe P resches o (o
%P
(i) swpse fhere are 9 kips n fhe Jile where 4. Fr 921,425
onid 1), the nest loter oy yem®e 1, 1,2, 2, 4 chis repefiely sud
ot fhe vemoirinf chips e Wmf bp3 0,30 mw&fi%%.
2 or° r%iﬁms P, Thoefoe. for onf it 4 [ Hoe eis
N2 f/m  recy 6 pxam pe p.
Thes, p= | em: (0, 30md7)] 3 the sef of P- b,
h. ) Jist e ]CL'VSf ]Cff‘”’ }7‘}’”5iil\”"5 O'f the Jame
(0.0), (1,2), (3.5, (47, (417, (3,13 (9,16) (/1 18)
T;HAS, fW (6,?2‘Me[,(ﬂ'nm\"¥ mive s (4/,7) ; ﬁy (l, /l—)/ ‘Mf W”Vf Vs
e (9,10 od (6,10) 5 for (13,20), fhe winrdy moes @€ (35) (12,20)
ond (I,18).



(b) l@él(ﬁif-

(1) syt [nyl=[w, then we o fﬂkf N= 2. Thes [ng]+n=[wth=62

Hence (%,4)= (I, 162).

(1) 3 we {rhe [ny]= o, fhen » Jos 1o solutims. Thas we must chase n such
Hot [ny]4n =59, |V con Loke =19/, then [n¢]-39) ondl [nf 40 = 50
Hence (%,9)= (£, 309).

i) A Y9 DI [np]= 89, 50 n=997. Thes [rp]= 1614 ond
[ny]+n=261%

Hence (%, 4)= (2415, 1614).

$. (0] o o the [ectwes, fhe Slwxfue- @mxn/j ﬁm(ms 757 F pile rim andl

su b fom goue with ¢ [ L3k gf we §@=F e 9,802 (mal1)

pesechvely. It serotrs b i the Spafuer Gty fndhin 8309 o Gome .

We ]Dws{ }1‘$-f the velnes Dfﬂ}({/ (s ]Cvﬂ,,w;:
5 0 ) 2z 3 4 ¢ 4 T ¥
987 0| | 0 2 ¢ 3 7 ¢
) " see

In fuch, it v ok dff tﬁ:f 5%0//0,{/536

95(4) = {-;f U w o

I ff 5=

Hence, 9, (14)= 14, 9.111)7 3 M/ 9 (24)=

) smee 14= 10 3= 1k ord (2= [0,
9(14,’7, 24) = 7014 @9;(/7) @ %(24)
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) [t He wininj mae of G fom e pritim (1,17,24) be 4., 2)
pe am wohe a wmwe n eSectly e # e Gome |, 2,3 (whle He
dher o vempn M"C/W{‘fC/ ) such {hot QW= k=15 9,4)=1372
7 93(D)= |19 = 5. Nile Yot sine the number of Chips 15 deowsif
i succeeding maes, lhe wse (97 1k T z}rym‘é/e

Fr G, W)= 2, we mof (ke Y= 1f o
Fr 9= |3, Tt V8 7)”‘]’“5’55[5 fm heause the an"hV%céz/g “”é"‘”'j'

7h succee/i'f movs.
Honce, Hhere 15 oy ome wantarf ove 7%* the postin (4, 17,247 tv

(14, 16 14) (ie. remwe | chip I Goe 2).

9. (o) A(cm/i/lﬁ b e lectvres, the §(mfw— &Vum{tf ﬁmcﬁ'w's 74}/ /’ﬁ/(’ Nom o
subhchn gorte with = { 112, 3,4, 5, 5,7} we 9,08)= 5 oo §,19=%med$)

pespectivelf . 24 vemgins 10 fin/ fhe Sprfie- Godly finch fs (3) for Gonte 3.

pe first list the walves of 4,15) 45 fllws
x 0 1 2z 3 4 &5 b T % 9 Ipes

9 o | 2 | 0o | =z | 01 z
I foct, ib1s ndt dffalt b osee fot

0, 1 %= 0(mil4)
§) = { [y 7%[55’/3(”‘%‘/

2. i Az 2(mp)
tence, 41)= 7. R=4, 95(13)= 2.

() gwe 7= 1y, 6= 110, pd 1 210 .
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() Lot Ho wiminp i of G fom Hhe puitin (114 18) be (3,4 2).

0. (a)

(b’

We ar oke 0 mae T eéuci/j e of e Gone |, 2,3 such Yot
9,8)= 002 4, %)= ol = 5 o Je)z =],

oy Q)= 4, we my fobe 5= ¢4

fr =5, we my foke Y= 3 .

Fr $5(2)= |, we ™| fake 717

Hence, ol wininf maes of G fon the positim (7, 14,187 are
(4,14,18), (7,13,18) and (7,14,17),

o _Fy
=4
SN
H
B 7

Byte), all verbies which we of - o™ bt pot o ferminal psbim e -
B od D,

() Sine 9(A)=2, %(B)=0, 95(Z)=|

We hove 9(4,BE)= 910 OB %)
72 @0 @/

10, @1,
2

%

i) et ey mor fro (A, ,7) Jo (%,,2). we anrmoke & move
n e;saotlj e Of e three Fantés Such Hot 9, (%)= o, = 1, 9, f)=
=3 o)z [n=2.

Mote Yot since fhe moves f?"’"\ﬁ e ¢, O, F from B o7 T
£ 7 fon | omns k.

wow bW

hy jv“): ,/ e moj We A=E. Fvyﬁz(f{/:B Wﬂ;(??)zll {/Ie]m@‘v’)ﬂ/ﬁgﬁék

Heree, fre winmf move fom (A,Bz) 75(E B E).



I (@) Aeodhf o fhe [ectres, Jhe Spmpie-randy furct o fhe doke-ond-perk

me 75 qien b
GoNg 73 e oy aht! A 4= 4hsl
3(6}_— 4k+2 ’ 7f 5= 4/H'2
4L+4 P f{{: A«ﬁ-}-;

4his . Af £ 4kt
Sine |0=§+2, ||=§t3 ond |2= 84
b bove 9(i0)= 10, Jul )= 12 qz) =),
b Ul 1) = Y0) @ 91)@ 902)
= w@n g
= Jofo, © (low @ (oIl

= ey,
Thes the rest M@r Jos Wsz‘v)j #’“ﬁ{ﬁ WWY p /mﬁ”"S W?f/’f/’ ?“W
wloes egtler (11l 12,110 (10,1, 1) o (1012 1#0,) | i@ (7,110 .
(o, 1) o C19,02,6).
For (7, 12.11), Yhe ploer can yemoe 2 chips o fhe f}m’ pele 10 o (71112)
Tor (10,1,11), the plgr @n yene |o ch‘/« fm Yhe seomdl //z'/( fo veach (101, 12).
fr (11,6, Hhe por on yemae f chips from fhe s/ ple 10 reoh (0,11 ¢)

TI]eﬂfV/e) all winnirf mves f””" (0.1, 12) ore :
(0,1, ) ol (19,11, 4)
enerrtany ;
Snlzrr.{(c) S= {l 3,4, s} we |5t the values a§ 957 below

750)234'?5737,0”,2“
W o | 0 1 z3 z 30 | ¢ ) 2

(g.1,12)

I%ambeS)lownHw%r o, gz 02(m<)
I . 1f5, 1,5 (il §7

9(%) = 7_ ) f,5-4g(mv/§?)

4= & 7 (malf/

St 4= ), (22l ) Tz sim/3),
we hoe 9@)=2, JUB=0 ad 9 (27)=3.



T (o) Accv/aw b Yhe lectwes, Hhe set of P- s af lhe ovdinon| pim Jorte 75

b= | (65,30 %95 0%
NUW we W'b) S}WN F: { (5!,52,()))6‘0'53): 6‘@63@)5k:0] 1s #65911

o - sifes o He irwse pimt Jomé.

Chack. fhe 3 anditims F'fosiﬁons oS TWVWs.

G The W\lj {%’Ymiﬂ‘*( {oﬁiﬁ‘”’ 7S (0,0,7,9, o) am/ (0,,0,00) ¢ 2

i) Tobe onf R (55,85, 9, 560 € . Thon 51 @858 4 = 0. Spfoe de
st (4, 6,9, 34,557 5 o 0 14/ 45,% 54, 55 e o 7 one F
¥, 13, 35 13 C}l@’f]ﬂ/  Withoet boss nf jenem[{z% we mef assumé 42X 0y
$>% , B =83, 3573,
Mo <f 3@ % BA5=0 Hhen by greelotin [aw,
30 35 @35 = 5 0% GIs D 4 =%

which 13 @ amffmé'ﬁ'm‘ Thus o fﬁ}z‘ﬁw n P o pove {0 o fp;ﬂ{z‘m o P

1i) Suppme (41,5293, 54,45) € . Then %1% Ghx£0. fhen a,/cubw He tm
sum Wﬁf the l’marﬂ 675}’7?5%'”5 Of %) 55,85, ok of {he [eﬁm{' (Ao

Nﬂq'l 00’0/ m/""be/ Ojg, . Ohose fz/? ‘H@-{ .é/,e wyyejf\mﬁ,f bﬂ@*’j ‘ﬁﬁf‘)‘f
the pnbey ”]Q chiys 17 e pile 5 | - Remive the oh’}/s f’”"" the pile fr the
Fth ple o yem Yre chips o He seomd v 74./{;, pile o fhe ﬁ?y,{
lhot all oflumns [nlain eyon numlor af [

o Hid pile respctivelfso |
ord the rim-sunm o 3 numbers jold beane 0. Thoefoe onf paon nof 1

7 bos 0 me b0 yorition 7 P
ths, (b, 308,350 35 0 [yt of ol ol of (6,95 %25 6 oo n ochornin

(h) Pom(a), since 4 = 100, , 9= [00], , 4= [I02, ne hove
499 @l @ [wh g =1k 3
gy (kg ot he effmst adomn, dhe pinnig o gs?ff‘), from Ito,
0o, o [l [0l from 1o, .

Ths, all Wity maes fom the povti (4,6,9,11,14) we :
(7,304, At (4,610 10, 14) and ( 46,9113/



[nb) = A Hen e twe

vﬂ.
=2 ////”fp
O< 0y - £ <|
'/zk<,17k</éf/
o <1 <Jf‘ig;/
Sie AL on ey L] oac
Sine 45 <n : £ hon Lfé_—l <z
7 hen /,ﬂ/‘;e—_/:n—/ '
7%,&17 _/z_ﬁ_/_ - ] /é'l [
7 o Lprd >l
L _ ) kg oy L
0 = 0 / &
£ 1,2
A
& et n- [‘é"] | . Jhen ﬂﬂ(:Lﬁ?-Jﬂ(‘i‘ﬂ/
R A TR 3 b
b+ K (]- z/‘?)
Ther n/);éfﬂﬁ L1=1> = 4
/za(<,é+ﬁ( Cl-FogkH
Thus Z/l,ﬂ(‘l -A '

L rd] YA

k >4
Ié )_67- S @
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p?ﬁ“f?((L ;Lg;,/-g/..gr
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Tl it e 15 7o Y. 12.09)

)

5)5@{,56)53.)
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2286 = (010, P10, = 10000, -/ b

b Dlb=22,
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